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According to Kuppu Swamy, Childhood is a

1.
2.
3.
4.

Period from birth to adolescence
Period from infancy to Puberty
Period between 3 to 18 years of age

Period between 3 to 14 years of age
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One of the following stated that Heredity plays more important
role then environment on the human development.

1.
2.
3.
4.

Watson
Bagley
Gordon
Galton
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According to Kohlberg “Good boy — girl morality” is found in
the stage

1.
2.
3.
4.

Level I, Stage 1
Level I, Stage 2
Level 11, Stage 3
Level 11, Stage 4

§6ed (95750 “S00D erenthd - O Ingy AB” ot sd

1.

LN

13 igooo, 15 &%
13 igoao, 235 &%
23 igw, 33 &%
23 igcn), 435 &%

According to Ericson the social Conflict “Autonomy — Doubt”
is faced at the age (approximately) of

1.
2.
3.
4.

Birth to 1 year age
Between 1 year to 3 years of age
Between 3 years to 6 years of age

Between 6 years to 12 years of age
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According to Piaget, Animism is found in this stage
Sensori motor stage
Pre operational stage

Concrete operational stage
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: Formal operational stage
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The Intelligence Quotient of Morons is
1. Less than 20

2. 20-50
3. 50-70
4. 70 -90
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The author of the book ‘Art of thought’ is

1. Gulford

2. Davincy

3. Hackins

4. Graham wallas
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The concept of “Language acquisition Devise” was introduced
by

l. Skinner
2. Bandura

Chomsky
4. Pavlov
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10.

‘Equal appearing interval Scale’ estimates the following

1. Intelligence
2. Aptitude

3. Attitude

4. Creativity
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‘Id’ works on the following principle

1 Reality Principle

2 Pleasure Principle

3. Morality Principle

4. Consciousness Principle
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Thematic apperception Test was created by

1.
2.
3.
4.

Atkinson & king
Williamson and Darley
S. Bellock&L. Bellock
Murray and Morgon
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Govind wants to play with a dog. But he is scared that the dog
will bite him. The Conflict in Govind is

1.
2.
3.
4,

Approach - Approach
Approach - Avoidance
Avoidance - Avoidance

Double approach - Avoidance
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14.

In Pavlov’s experiment, the dog salivated when food is paired
with the sound of the bell. Here the salivation is a

1. Conditioned stimulus
2. Unconditional Stimulus
3. Conditioned response
4. Unconditioned response
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One of the following is related to affective domain

1. Organization
2. Imitation
3. Naturalization

4. Application
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First step in ‘learning by imitation’ is

1.

2.
3.
4

Retention
Attention
Performance

Reinforcement
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“The Foundations of any subject may be taught to anybody at
any age in some form”. This was started by

1.
2.
3.
4.

Bruner
Piaget
Chomsky

Gardner
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18.

Déjavuisa

1. French word
2. Greek word
3. Latin word

4. Russian word
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If the forgetting is caused due to the interference of previously
learned material on recalling recently learnt material, the
reason for forgetting is

1. Proactive inhibition

2. Retro active inhibition
3. Repression

4, Amnesia
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20.

A student who learnt the plural for the word ‘Book’ as
‘Books’, said the plural for the word ‘Child’ as ‘Childs’
instead of Children. This is due to

1. Positive transfer
2. Negative transfer
3. Zero transfer

4, Bilateral transfer
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This is not one of the law of perceptual organization
1. Law of continuity

2. Law of closure

3. Law of effect

4. Figure ground realationship
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The word ‘Learning disability’ was first used by

1. Skinner

2. Spranger

3. Kirk

4. Wood worth
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The following is also known as ‘Client Centered Counselling’
l. Directive Counselling

2. Non - Directive Counselling

3. Mixed Counselling

4. Vocational Counselling
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One of the following articles are related to the “Right against
Exploitation”
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1. 19, 20
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4. 25,26

The leadership in which the opinions of the members are given
value and respect.

1 Authoritarian

2 Participatory

3. Strategic

4 Ascribed
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One of the following is not an operating system software
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1. LINUX

2 WINDOWS
3. DOS

4 MS - EXCEL
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27.

As per RTE 2009, the number of teaching hours for
1 — 5 classes in an academic year is

RTE 2009 ($5°50 2.5 g ©05S)50S° 1 - 5 SSHS000

S5 Kosrew
1. 800

2. 1000
3. 1200
4, 1300

As per NEP 2020, 3™ to 5™ classes belong to the following

stage
1.
2.
3.
4.

Foundational stage
Preparatory stage
Middle stage
Secondary stage
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Correct statement about ‘Open Education Resources’

1. free of cost

2 can be used with permission

3. Special software is required to use this
4 very costly
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Tabs with e — content were given at free of cost to the students
of the following class in Andhra Pradesh.

1. 6" Class
2 7™ Class
3. 8™ Class
4 9™ Class
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30.

The 2™ chapter in NCF — 2005 is related to

1.
2.
3.
4.

Learning and Knowledge
School and Class room environment
Institutional Reforms

Curricular areas, School stages and Assessment
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1. 1948
2. 1956
3. 1951
4. 1959
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61.

62.

63.

64.

SET — 2
ENGLISH

Select the sentence in the simple present tense.

1.

2
3.
4

She

She will be playing football later.
They are eating lunch right now.
She reads books every evening.

We visited that museum last year.

practices the piano.

Choose the option that fits the blank.

l.

2.
3.
4

sometimes
now
tomorrow

yesterday

Choose the grammatically correct sentence from the following

1.

2
3.
4

Frank is an European.
It is an one rupee note.
What beautiful painting it is!

Man is mortal.

The following discourse marker can be used to express

‘agreement’

1. Yes, in deed

2. On the contrary .....

3. However

4. That’s not entirely true



65.

66.

67.

68.

Choose the punctuation mark used to end a declarative

sentence.

1. Period (.)

2. Comma (,)

3. Exclamation mark (!)
4 Quotation marks ()

Choose the correct sequence of the words in which they appear
in a dictionary.

A) legible B) legal C) legacy D) legend
1. C B D A
2. B C A D
3. C B A D
4. A B C D

Identify the linker that indicates cause and effect:

1.

2.
3.
4

similarly
hence
nevertheless

first

Identify the complex sentence:

1.

2.
3.
4

He couldn’t go to the party because he was feeling sick.
She danced gracefully on the stage.
She exercises every morning.

They take the bus to work.



69.

70.

71.

72.

“Her happiness was contagious”.

Choose the part of speech of the word ‘happiness’

1.
2.
3.
4

Select the conjunction that represents a choice between two

Noun
Verb
Adjective
Adverb

options.

1. and
2. but
3. or
4 SO

Choose the phrasal verb that means ‘to completely deplete the

supply of something’.
1. take over

2 put off

3. come across

4 run out of

Choose the type of sentence that expresses a direct command

or instruction.

1.

2
3.
4

Declarative sentence
Exclamatory sentence
Imperative sentence

Interrogative sentence



73.

74.

75.

76.

“Don’t waste time,” the teacher said to the students.

Choose the correct indirect speech for the sentence above.

1. The teacher advised the students not to waste time.
2 The teacher advised the students don’t waste time.
3. The teacher advised the students to not waste time.
4 The teacher asked the students don’t waste timer.
Three fifths of all the money  already been spent.
Choose the correct verb that fits the blank.

1. have

2 has

3. were

4 are

Body of human being or animal embalmed for burial.

Choose one word substitute for the expression above

1.

2.
3.
4

Nigger
Snotty
Mummy

Draper

Choose the correctly spelt word.

1.

2
3.
4

aggressive
agressive
aggresive

aggrisive



7.

78.

79.

80.

Water drips from a leaking drain pipe.

Choose the synonym of the word “drips’

1.

2
3.
4

He lived alone, was not a good mixer, had few friends, and

pours
flows
splashes

trickles

didn’t like spending time in idle chat.

Choose the antonym of the word ‘few’

1.

2.
3.
4

many
less
fewer

little

English language acts as lingua — franca.

This means:

1.

2
3.
4

According to Francis Bacon, the following makes an exact

man

b=

English links different languages.
English delinks different languages.
English is a language of frankness.

English is the mother tongue of all countries.

Listening
Speaking
Reading
Writing
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82.

83.

A squiggle, which is seen in the classroom, is:

1. a face mask

2 a chart piece

3. an irregular line
4 a long scale

The skills of planning audio — visual tasks to ward away the
boredom of students is called:

1. stimulus variation
2 reinforcement

3. recurrence

4 repetition

Read the following passage.

The old lighthouse stood sentinel on the rugged cliff, its
weathered walls bearing witness to years of storms and salty
sea spray. Waves crashed against the rocks below, sending
plumes of foamy spray into the air. Seabirds circled overhead,
their cries mingling with the distant sound of ship horns. In
this remote coastal outpost, the passage of time was marked by
the ebb and flow of the tide.

Select the correct statement based on the passage:
1. The lighthouse was situated in a bustling city center.

2. Seabirds were perched quietly on the lighthouse tower.

3. The sound of ship horns was absent in the coastal
outpost.
4. The waves crashed against the sandy beach below the

lighthouse.
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85.

86.

Read the following passage.

The old lighthouse stood sentinel on the rugged cliff, its
weathered walls bearing witness to years of storms and salty
sea spray. Waves crashed against the rocks below, sending
plumes of foamy spray into the air. Seabirds circled overhead,
their cries mingling with the distant sound of ship horns. In
this remote coastal outpost, the passage of time was marked by
the ebb and flow of the tide.

Choose the correct statement based on the passage:

1.
2.

The lighthouse stood on a flat plain.

The walls of the lighthouse showed no signs of
weathering.

Seabirds were absent from the coastal area.

The passage of time was marked by the movement of
the tide.

C.J. Dodson belongs to:

1.

2
3.
4

Wales University
Oxford University
Stanford University

St. Jones University

“The Silent Way” is known as:

1
2
3.
4

alternative language teaching method
essential language teaching method
online language teaching method

isolated language teaching method



87.

88.

89.

90.

The conduct of a student depends his teacher.
Choose the option that fits the blank

1.

2
3.
4

upon
upon off
upon out

upon of

An independent clause can work:

l.

2.
3.
4

alone as a complete sentence
as a dependent clause
as a non - finite clause

as a conjunction to join two or more sentences.

‘Used to’ is used for indicating:

b=

future actions
past habits
polite requests

conditional statements

They visited the Louvre Museum in Paris.

Identify the correct use of articles in the above sentence.

1.

2.
3.
4

The article should be omitted.
The article should be ‘a’.
The article should be ‘an’.

The article is used correctly.
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92.

SET -3

Mathematics

In a test cricket match team India scored 216 runs on the first
day. On second day it scored 172 runs more than the first
day,then number of runs scored on the second day is

28 By Sy’ et wey I3 8% 216 DoiHen Sod.

BoES &2 0o63e3 S ST 172 Hthihen 55 SHod.
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172
216
388
398

The difference of two numbers is 568. If one number is 796
then the other number is

Boc HoPge 2350 568. 3°S° 2.5 0P 796 ©00S BoES

boaa?s

1
2
3.
4

228
178
272
142
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95.

When a rational number is multiplied by% and % is added to

.7 .
the product is 1 Then the number is

2,5 e955e30% 0PGRS % &° 506300 es oards % D 588

7
—— S00H. es :60235

12 =
L1
2
2. 2
. 1
2
4. 2
12
2_3_n+5_n =21, then the value of ‘n’ is
2 4 6
2_3_n+5_n:21, @0 ‘N’ VI
2 4 6
1 63
2 23
3. 25
4 36

The number which is not a perfect cube among the following
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l. 216
2. 64
3. 500
4 125
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97.

98.

The length of a room is 30m and its breadth is 20m. Then the
Ratio of the Length of the room to the breadth of the room.

2.5 K8 &y 30 Do. 508050 ey 20 . o0 es KO
FED, )0 NG

2:3

b=

1:2
3:2
2:5

12,
Convert 16 into percent

12 5 5058 Sy
16

1 25%
2 75%
3. 50%
4 100%

Waheeda bought an air cooler for Rs. 3300 including a tax
10%. Then the price of the air cooler before VAT was added is
(in Rs.)

S3rce 2.5 Jod 58S 10% ‘532530)956 50% &, 33005 £
9008 VAT E09E 52008 Jond &rob 988 (&r.o8°)

1 3100
2 3200
3. 3300
4 3000



99.

100.

101.

Rs. 3500 is given at 7% p.a rate of interest. Then the interest
received at the end of two years. (in Rs.)

ROSSYOS 7% 5& Tens® . 3500 30E08. ©0I
Bo HOIHTe SN FoT Sg (5.08°)

l. 400
2. 450
3. 490
4. 500

. 5
Improper fraction of 2%

5 LA
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LY
6
2. 2
6
. =2
6
4. 2
6

The rain fall (in mm) in a city for 7 days of a certain week was
recorded as 1.0, 5.5, 20.5, 0.0, 2.1, 12.2, 0.0 Find the mean
rain fall for the week (in mm)

2.5 D83 T505°D 7 et o8 SKS0S® Sgarso (. H.08%
1.0, 5.5, 20.5, 0.0, 2.1, 12.2, 0.0 5357 DONESE. 9023
&3 508 DX 5?)@@2‘))) ESoR°S508 (0. Hosd)

l. 5.7
2. 5.8
3. 6.0
4. 59



102. A rectangle has 8 cm length, 3.5 cm breadth.What is the

103.

104.

perimeter of that rectangle. (in centimetres)

P& 8 0., e 3.5 20.0. Ko agm ST e oS
(20.20.08%

1. 14
2. 32
3. 23
4. 19

A triangle with all the three sides are unequal in length is
called

1. Equilateral Triangle

2 Scalene Triangle

3. Isosceles Right Triangle

4. Isosceles Triangle

07750 2P0 FEPeD BVSTIe Ko (DEHB0 o
VOO,

1. ISNSTALSLR (L fAR e

QASLTTV (B2eso

©028’er VIHEGRTIV (Yo

L

DI (B30

The number of faces of a triangular pyramid
(B2hEs"S BEWE By, Soopse HoPs

I. 6
2. 4
3. 8
4. 12



105.

106.

Acute angle means

I.
2.
3.
4.

Less than one — fourth of the revolution
Half of a revolution
One complete revolution

More than half revolution

@@Q?ao ©90ES eago

1.

Ll

TR’ S0 HOPS0e0 ET7) SEI
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@ represents

1
2
3.
4

AB ray
AB point
AB line

AB line segment

AB 829 593308

1.

L

AB 3883520
AB 900y
AB 3y
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107.

108.

109.

Mother has made laddus. She gives some laddus to guests and
family members. Still 5 laddus remained. If the number of
laddus mother gave away is /, how many laddus did she make.

S okren DO, €5 AL BTN e 02 NAHCES
§'Q) viren 3u)0d. JOEIr 5 vz doAerow. 89 IS
OUETO dowps [ 9008 €535 SASTE DS SIS dogpg

l. 5-1

2. -5
[+5

o
/

Factors of 2xy +3x+2y+3
2xy+3x+2y+33°5e5°05°eD
1. (2x+3y)(x+y)

2 (2x+3y)

3. (2y+3)(x+1)

4 (2y+1)(x+3)

(S3)"%(=3) =(-3) then the value of ‘m’
(=3)""'x(=3) =(-3) ®@00s ‘m’ Jens

1. 5
2. 7
3. -3
4. 1



110.

111.

“Laxmi’s father is 49 years old. He is 4 years older than three
times of Laxmi’s age.” The equation form of the statement is

“©§) Bolé I 49 VoSS oe. BEI SADW) ©F)
SADBOYD Sy Beyy 08 4 HOIS\Toe0 AW, S” e TGO
Boo¥), JESEd B0

I.
2.

3.

4,

3y—4=49
49+3y =4
y=P3
2
3y+4=49

Mastan wants to build a 10m length of wall and he has
completed 4m 10 cm of wall. How much more has he get to

build.

1.

N

3.

4

14 m
14m. 10 cm

5m. 90 cm
140 cm

DT 10 D A& KPoDE 4 2 10 0., A6 J°g
BOSLoNB FOEI> o FEY Ko Koo 5ex8.

1.

L

14 o.

14. 10 20.20.
5 Q. 90 0.2.
140 20.2.



112.

113.

Rajitha is 9 years old. If her sister age is twice that of Rajitha’s
age,then Rajitha’s sister age (in years)

5268 ;Sojom(\) 9 éoée‘%émm. 530 AP ;Soﬁom(\) 5238
SN0 TE0 @onS e FEO $A0R) (Ross)oes)

1.

L

11
13
15
18

If each edge of a cube is doubled, then how many times will
its volume increase.

I.
2.
3.
4.

12 times
2 times
6 times

& times

DIT0 BooE), (P8 O T JVS A WS DOSTE0
AR) Te DRSO
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114.

115.

If the circumference of a circular sheet is 154 m, then its
radius (in meters)

NTSE A5 Fook), HepSes 154 . wond o FFrLo
(Dexged)

1. 23.5
2. 24.5
3. 25.0
4. 25.5

METHODOLOGY

‘Mathematics’ word is derived from two Greek words
‘Manthanein’ and ‘Techne’. In this ‘Manthanein’ means

1. Simplest process
2. Learning

3. Abstract Thinking
4. Attitude

Mathematics 93 $¢0 ‘Manthanein’ 508035 ‘Techne’.
@S B (A H0re S0ons o0 )E08. F0HED
‘Manthanein’eo35m

1. ‘:6?5&‘53%5@

2. 3(533&’8:56.{0
3. @9305°8 PSS
4, qu)go)éo



116.

117.

Mathematics develops which of the following value among
students through rationalism

1. Utilitarian value
2. Cultural value

3. Disciplinary value
4. Preparatory value
)

TETE0 TRO KIS0 TGRS’ B3 ($08 eI
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The method in which the student moves from the general to
specific, from the abstract to the concrete, from the formula to
the example is called

1. Inductive method
2. Synthetic method
3. Deductive method

4. Analytic method

g8 FI;I0 008 (HBgE @08, 9P Dok
HrEETR8, (B0 ok G IT) D
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118.

119.

A paper having squares by horizontal and vertical lines seems
like a graph which is useful to count, to do additions,
subtractions, tenths, hundredths etc is called

1. Internet paper

2. Drawing paper

3. Grid paper

4. White paper

88) 030, Boseso, S§IEO[0, HIYLo, BFOTL, FTOTW
0S50S woor S RoSER (D D6 3B &od
Qen), &) ASoS® Ssoren Ad &) SRS

L eodge N
2. |ZPowoR W6
3.  B&E s

4. 8y S°AGo

A programme of activities to achieve the objectives of a class
in an academic year is called

l. Unit Plan

2 Period Plan

3. Year Plan

4 Teaching Notes

25 AGOOSHP0S” 2.8 SEKB 502000 OF O
FRoBEAS Ko SEYESre (Herd
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120. What is the main principle behind the lesson plan which was
proposed by Regional Institute of Education, Mysore

1. Herbart approach
2 Unit approach

3. System approach
4

Evaluation
8255 aSggwge? esH g@énﬁ P8 T (HOIHODS
TEGIEE S50 INE Hoe(go
L Ton§ Ssrs
0503°eS ffoes§:aa5§ SSoTeSe
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121.

122.

SET -8
EVS

Aerosol sprays contain the pollutant

1. sulphur dioxide

2. lead
3. chlorofluorocarbons
4. nitrogen dioxide

NS [?oo)oo O/ &0 STy STESTeD

L %003 eg)E

s W N
a3,
%{,
3
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q
e
N

The force acting on a unit surface area

1. Force

2. Pressure

3. Friction

4. Gravitational force

(BSrer FTgo Ko 00 P HITL 2200

1. 2200
2. 5&s0
3. :wge'a
4,

7&363@3§<‘§9 2000



123. The frequency of an object which oscillate 20 times per second
DEDH 20 ToRTe0 DO ¥ SN BoE), iP?S:@&’)?SO

1. 20 m/s
2. 20 cm/s
3. 20dB
4, 20 Hz

124. The chemical that can be used to neutralize acidic soils
I. Ammonium chloride
2. Compost
3. Calcium Oxide
4. Sodium chloride
XM S0 eééagg§80zﬁoéa§> 53 63"0‘535"2}}) bb&rﬂoﬁbiﬁo&

1. 3070 ?@qg

DoBaw wergo

A0 @E}S
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125.

126.

Respiratory organs in insects

1. Skin

2. Gills

3. Lungs

4. Tracheae

oos® T O

1. 1356&0

2. R00)e

3. &80 B
4. A JIPT

Correct order followed in a “waste water treatment plant”

1. Bar Screen — Grit and Sand removal tank — Aerator -
Water clarifier

2. Bar Screen — Grit and Sand removal tank — Water
clarifier — Aerator

3. Bar Screen — Aerator — Water clarifier — Grit and Sand
removal tank

4, Bar Screen — Aerator — Grit and Sand removal tank —
Water clarifier

“S0EIHA HY So°yrE0”S” TBS (300

L 28 QS - Somoy HOAH F0E FoRoh &m0 -
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127.

128.

The direction of current in an electric circuit

1.
2.
3.
4.

from positive terminal to negative terminal of the cell
from negative terminal to positive terminal of the cell
depends on the type of the electric cell used

depends on the type of electric wires used

25 DeSgS S0a08” S (HIT B
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The temporary changes of an organism that makes to adjust to
its new environment over a short period of time is

1.
2.
3.
4.

Hibernation
Adaptation
Acclamatization

Evaluation
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129. The system that changes the complex food materials into
simple absorbable materials

| Excretory system
2 Digestive system
3. Respiratory system
4 Circulatory system
0083 I HTTOR, TROBWE VB DT S7TY 555
ced @ @ @
1. DTS NS
23 (&)
2 £ 5559
9 @
3. %36 ;5535:%
4 ofs{vehutetct RN

130. The authority to issue caste certificate at mandal level is
1. Mandal Educational Officer
2. Mandal Development Officer
3. Tahsildar
4. Mandal Health Officer
2050 Food® HO ST JER) FETD ©OTd
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131.

132.

Mudras are used to express feelings and emotions by

1. Mime artists
2. Painters

3. Musicians

4, Dancers

PTOD SEEOOSEIS $0(EoH IIFTROWHIT
L oD SerseHen

2. (G EFesetoen

3. DOAE Swrsethen

4, ‘5;)955 Egeseloen

A family only with mother, father and children is called as
1. Joint family

2. Extended family

3. Nuclear family

4. Big family
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SET -5

SOCIAL STUDIES

133. Rytwari system was developed by
1. Dalhousie

2. Meckenzie
3. Thomas Munro
4. cornwallis

B0 HFBI 0PSB DEAS I
1. &S D
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134. This statement is not related to the “Big-bang theory”
I. proposed by Georges Lemaitre

2. Describes about the origin of the Earth

3. The Universe grew from the size of an atom and has
been expanding

4. Tiny atom exploded about 13.7 billion years ago
50 FY0S0 DEToErIS” Hoe0o 8 e0¥o

L 28oHS S 8D (PAIBoTE
2. ALV esi)ca:éo 700070 AS808
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135. Pataliputra was the capital city of this dynasty

1. Anga

2. Kosala
3. Mourya
4. Asmaka

FedY o B3 g8 OB GO

1. @0K

2. §%e
3. 333"65
4. ea“o&§

136. This is not a tributory of river Krishna
1. Thungabhadra

2. Bheema
3. Koyana
4. Sabari

53 (308 TBSE° LSO &RIH A8

1. Rlelgtal(a)
2. D

3. §PaI°
4. ¥208



137.

138.

139.

Atapaka Bird sanctuary is located in

1. Pulicat Lake

2. Kolleru Lake

3. Sambar Lake

4. Chilka Lake

e D DosFeT Solo 38 & S0
1. DO RER0)

2. Solet) DB
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3. droerd RER0)
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English Education Act was passed in
e50[{ JT>g 30 VoGS VOSSBY50
(30) o

1. 1835
2. 1895
3. 1845
4. 1875

The Founder of the kakatiya dynasty
1. Gundyana

2. Recharla Rudra

3. Prola-II
4. Jayapa
SEDCDH Ovesg PHEED
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140.

141.

The population needed for the formation of the Municipal
council

DETOE HOWO IT)ENVANLE OFIEDS 25
1. 50,000 —2,00,000
60,000 — 3,00,000
40,000 — 3,00,000
40,000 — 5,00,000

.

Borra caves were formed as a result of this river

1. Gosthani river

2. Nagavali river

3. Vamsadhara river
4. Krishna river
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142.

143.

“Do or Die” slogan was related to this Movement

1.

2.
3.
4.

Vandemataram Movement

Quit India Movement
Non-cooperation Movement

Salt Satyagraha
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“Viticulture’ is the cultivation of this crop

1.

2.
3,
4,

Apples
Mangoes
Papaya
Grapes
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144.

145.

This poet was NOT belong to Astadiggajas

1.

2
3.
4

Dhurjati
Pingali Surana
Vallabha Raya

Nandi Timmana
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Scientific method and scientific attitude are the main
characteristics of science education” — is said by

1.
2.
3.
4.

John Dewey
Karl Pearson
Albert Einstein
A.W. Green
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146.

147.

A good objective should NOT have this characteristic
1. Being specific

2. Being useful

3. Being complex to achieve

4. Adaptability to change
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The best method to teach “how potter makes pots™ is
1. Discussion

2. Lecture method

3. Dramatization

4. Field visit
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SOCIAL METHODOLOGY

148. According to Benjamin Blooms, these three elements are
interrelated in the Educational process

1. Objectives, Learning experiences, Evaluation
2. Objectives, Simulation, Survey

3. Evaluation, Survey, Simulation

4. Survey, Simulation, Interview
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149. The total number of steps in an exploration based approach is
SR BEOS EHADI0 &' FrTen

1. 5
6
7
8
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150. “A project is a bit of real life that has been imported into the
school” defined by

1. J.A.Stevenson

2. Billard
3. Bining and Bining
4. Kil Patrick
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